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QUESTION 1

What are disadvantages of using Fibre Channel Arbitrated Loop (FC-AL) rather than fabric Channel switched Loop (FC-
SW) topology? (Select two.) 

A. FC-AL topology is usually more expensive than FC-SW. 

B. Only one pair of ports can communicate- at the same time. 

C. Multiple pairs of ports communicate at the same time. 

D. The failure of a port is isolated from the other ports. 

E. The bandwidth is shared among all active nodes. 

Correct Answer: BE 

 

QUESTION 2

What are benefits of using the NinjaProtected Tool? (Select two.) 

A. identifies the agents that the solution needs 

B. identifies potential deduplication-driven benefits 

C. measures the performance of transactions 

D. assists in finding opportunities for cost reductions 

E. simplifies the number of licenses required 

Correct Answer: BD 

 

QUESTION 3

What connects Fibre Channel SAN switches to form a scalable SAN Fabric? 

A. ISL 

B. NPIV 

C. FCoE 

D. FSPF 

Correct Answer: A 

 

QUESTION 4
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According to best practices, what provides the most usable capacity for an HPE 3PAR StoreServ SSD CPG with eight
disks? 

A. RAID 1 

B. RAID 5 with a "set size" of 3+1 

C. RAID 5 with a "set size" of 7+1 

D. RAID 6 with a "set size" of 6+2 

Correct Answer: D 

 

QUESTION 5

Which HPE StoreVirtual features enable substantially increased efficiency? (Select two.) 

A. network RAID 

B. iSCSI storage clustering 

C. storage federation 

D. reservation-less thin provisioning 

E. space reclamation 

Correct Answer: DE 
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